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Unit 4 Circles Review

ngles in Circles

ite the f I °— ©
ite the formulas a‘\q\& — O..("Q__

¢ Ceniral Angles:
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» Angles Inside the Circle: G‘\Q\Q -
(not in the center) v Grc~al | &
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°
Angles Outside the Circle: Q "\7 \Q z 2~

1) In the circle below, Cis the center, mZCAB =35° and mzACB = 110°. Find the following
measures.

mips=_ &0°
msLEDB = 3%0

Find the measure of the indicated angle or arc.
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10) £AED is formed inside a circle by two intersecting chords. If minor arc BD = 82 and minor
arc CA = 176, what is the measure of £ AED?2
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Segment Lengths in Circles
ite the formulas:
Chords that intersect inside:

&

oot - mut‘ S sock ot

W

\ \ \
Secants that intersect outside: DLA'stC)\L'w\\ b\e < Q(A{"Sidl" w\\o\e

S

Find the indicated measure.

2x ()= L(8)

\Hw= HR

11) Find x.

2 _
Secant and Tangent that intersect outside: - od- : )(b‘ <

12) DE = 2x + 8, EC = 3, AE = 4x— 3, and
EB = 4. Find mCD.

e,

'~ 3(2xr8) = (4x-3)
bx+T4< (e -1
. Y= lox- 1z

3L=\0%
XT3\
CD Z(3Q+%+3~ IR Z\

14) Find x.

. £ 0-W
S
) 9= Ty +49

120~=Tx
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15) Find the mKM. 16) Find the length of the top secant.

;s [8%21e <IZ+X+S> 3 3(7(*3\'\‘ ‘1(“)
f’}z'-f: |Z% 4+ 204 T ANMA = Y
) \20 2 \2% PRSI
Y=\Q X3z X= 1.7
K= %4S4iz2 1045 ¢12x E
(= 2]

17) In the diagram, segments AD and AB are tangent to circle C. Solve for x.
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Arc Length and Sector Area M (41\ 1{4\ ONrC °
Write the formulas: c ZT"J‘ or ~ 2 —
Circumference: TC Arc Length: Z'TCr 3(90
— 5_‘__&_"22&-'—(3- Gre®
Areq: A‘ - "TC’I’ Sector Areq: _-EH(DO
v \ v
Find the arc Ieng’rh and sector area of the following.
150
19) 7.'\'((”)‘ i 20) central angle of 8509 and a diameter
~ of 5cm. X _ 89
A ———

S ST 30
‘ Arc Length: "‘ ﬁt Arc Lengt

/X ~ 190
X

< T(9) 36D (1505 |5 ws W\
Sector Areqa: —I—;I'H' ec‘rorArZW zs'ft %

21. The diameter of a pie is 10 in. The pie is | 22. An Apple pie has a radius of 4.5in. The
cutinto 8 slices. What is the arc length of | pie is cutinto é equal pieces. What is the

| S

each slice? l area of each piece of the pie?
X X ( (o -
7R — XU &r
10T~ 3 205t b &

By = 0T

Or K= 3315 ;4
23. Asprinkler has a cirCotsi=g sorays 20 ft (the radius of the circle). If ‘rhe spnnkler
is set to a quarter turn, what is the area of the yard that will be wateredze

/@o Yy =400

X= 1007 S of
24. The radius of a bike wheel is 12 inches. There are 9 spokes on

3 |t H,
length between each spoke?

=17 _\ 24Tv
@ ey 4

§k‘
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25. There are two pies each with a diameter of 12 in. One pie is cut into 4 slices. The
i infQ 10 slices. How much more pie do you get from a slice of the first pie2

Seetor = ”T“ M4 =
R b Ntﬁr_
(,* » I‘.N R}k q‘r‘ér&e spn Y \\‘\“ malf\-tin \QHK

HerfTack has a diameter of 100 yards. A fra s around
‘rrock How far did the athlete sprinte D - ,OO

/71%«_:5 e 9.1 ~ (1a0) = Sk

27. The Cheesecake Factory has two different sizes of cheesecake. A small cheesecake
has a diameter of 8 inches and is cut info 8 slices. A large cheesecake has a
diameter of 12 inches and is cut into 12 slices. Which option would give you more
cheesecake; purchasing three slices of the small cheesecake or two slices of the

Iorge cheesecake?
$md S«Jamfm G lo«‘ji, gL ox=3ox
NET R S NG Y=l
g ot~ 3 W:brw "\’E.
Skateboarding has become a popular{sport. The parks department is thinking o

ramps in some of the local playgrounds. A “half-pipe” ramp is formed by two quarter-circle
ramps, each of which is 10 feet high, plus a flat space 20 feet long between the centers.

z’u@_ "T
,,__: ( A 10ft. 10 ft.
T *> \

LIX 301( . 'S _7 20 ft. ’

28. Find he dls‘ronce a skater fravels from the top of one ramp to the top of the other.

ERA

29. Another launch ramp is formed by 2 arcs, each with a central angle of 60 degrees and a
radius of 10 ft. Find the length from the top of one ramp to the top of the other.

X -0 x .L

201 360 201 b
lox=201C
Q4 %0.S
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